C:# Estimating Capacity (American) Name:

Deter mine which measur ement would be most appropriate. Answers
1) Sam was watering aplant. Did he most likely use 2 cups or 2 gallons?
1.
2) Tomwas buying juice for abirthday party. Did he most likely buy 6 cups or 6 gallons? 2.
3.
3) Georgewasfilling up anicetray. Did it take 2 cups or 2 gallons to fill it up?
4.
4) A blender can most likely hold half a pint or half a gallon?
5.
5) Isabel was squeezing oranges for orange juice. Did each orange most likely have closer to || 6.
acup or agalon?
7.
6) At arestaurant Jerry ordered a glass of lemonade. Did the glass most likely have 1 pint or
1 gallon of juice?
8.
7)  John was mopping his kitchen floor. Did his mop bucket most likely have 6 pints or 6
galons of water? 9.
8) A fishtank most likely uses 35 pints or 35 gallons of water? 10.
_ 11.
9) A car gastank iscloser to 15 cups or 15 gallons?
12.
10) An eye dropper probably holds closer to a cup or aquart?
13.
11) Robin bought atube of toothpaste. Was it most likely 1.5 cups or 1.5 quarts? 14.
15.
12) A jar of mayonnaise most likely has 1 pint or 1 gallon of mayonnaise?
13) Thevolume of akitchen sink is most likely 5 cups or 5 gallons?
14) The average bathtub holds 45 pints or 45 gallons of water?
15) A wheel barrow most likely would hold 50 cups or 50 gallons of sand?
Math 1-10 | 93]87|80| 73] 67| 60| 53] 47| 40| 33|
a www.CommonCoreSheets.com 11-15]27|20)13| 7 | O




ﬂh Estimating Capacity (American) Name:
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Answer Key

Sam was watering a plant. Did he most likely use 2 cups or 2 gallons?

Tom was buying juice for a birthday party. Did he most likely buy 6 cups or 6 gallons?

George wasfilling up anicetray. Did it take 2 cups or 2 gallonsto fill it up?

A blender can most likely hold half a pint or half agallon?

Isabel was sgueezing oranges for orange juice. Did each orange most likely have closer to

acup or agalon?

At arestaurant Jerry ordered a glass of lemonade. Did the glass most likely have 1 pint or

1 gallon of juice?

John was mopping his kitchen floor. Did his mop bucket most likely have 6 pints or 6

galons of water?

A fish tank most likely uses 35 pints or 35 gallons of water?

A car gastank is closer to 15 cups or 15 gallons?

An eye dropper probably holds closer to a cup or aquart?

Robin bought a tube of toothpaste. Was it most likely 1.5 cups or 1.5 quarts?

A jar of mayonnaise most likely has 1 pint or 1 gallon of mayonnaise?

The volume of akitchen sink is most likely 5 cups or 5 gallons?

The average bathtub holds 45 pints or 45 gallons of water?

A wheel barrow most likely would hold 50 cups or 50 gallons of sand?
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